CHRISTOPHER T. ELLISON
ANNE J. SCHNEIDER
JEFFERY D. HARRIS
DOUGLAS K. KERNER
ROBERT E. DONLAN
ANDREW B. BROWN
GREGGORY L. WHEATLAND
CHRISTOPHER M. SANDERS
LYNN M. HAUG

PETER J. KIEL

ELLISON, SCHNEIDER & HARRIS L.L.P.

ATTORNEYS AT LAW

2600 CAPITOL AVENUE, SUITE 400
SACRAMENTO, CALIFORNIA 95816
TELEPHONE (916) 447-2166 FAX (916) 447-3512

March 9, 2010

Angelique Juarez-Garcia

Compliance Project Manager

Siting, Transmission and Environmental Protection Division
California Energy Commission

1516 Ninth Street, MS-2000

Sacramento, CA 95814

ELIZABETH P. EWENS, OF COUNSEL
BRIAN S. BIERING

TERESA W. CHAN

SHANE E. CONWAY

KATHRYN C. COTTER

JEDEDIAH J. GIBSON

CHASE B. KAPPEL

SAMANTHA G. POTTENGER

DOCKET
02-AFC-4C

DATE MAR 09 2010|

RECD. MAR 09 2010

RE: REQUEST FOR STAFF APPROVED MODIFICATION: WALNUT ENERGY
CENTER AUTHORITY WALNUT ENERGY CENTER (02-AFC-4C):
INSTALLATION OF MICRO FILTER FEED TANK AND SHADE STRUCTURE

Dear Ms. Juarez-Garcia:

I am writing on behalf of Walnut Energy Center Authority (“WECA”), the license holder for the
Walnut Energy Center (“WEC”). The purpose of this letter is to request Energy Commission
staff approval for a modification to the WEC. Specifically, this modification includes the
addition of a new Micro Filter Feed Tank and a shade structure. As described below, the Micro
Filter Feed Tank is needed for WEC to continue to effectively operate its Zero Liquid Discharge
(“ZLD”) water treatment process. The shade structure is necessary to prevent sun damage to
some of the ZLD equipment.

Micro Filter Feed Tank

In January 2009, Turlock Irrigation District (“TID”) determined it was necessary to upgrade and
optimize some of the internal components of the existing WEC ZLD system. The system was
using multi-media filters to filter contaminants found in the reclaimed water. However, the
multi-media filters were allowing excessive amounts of submicron material to pass through. This
submicron material then fouled downstream equipment, resulting in poor performance, reduced
run times, increased cleaning frequency, increased energy consumption, and additional waste.

As an alternative, TID sought to replace the multi-media filters with micro filtration equipment
that provides more effective and efficient filtration. Since TID was replacing existing equipment
with similar equipment within the same ZLD system area, the change contemplated at that time
was not a modification requiring an amendment to the WEC license. The replacement of the



March 9, 2010
Page 2

filtration equipment’s internal systems did not change the design, operation or performance of
the WEC. In essence, the internal workings of the existing system was considered to be a “black
box.”

TID initiated a Request for Proposal process for the micro filtration equipment in the Spring of
2009. The responsive bids included, among other things, the addition of a Micro Filter Feed
Tank to contain the cooling tower blowdown stream as a feed point for the new micro filtration
equipment. Given the prior advice that the ZLD system was essentially a black box, no linkage
was seen between the inclusion of a new tank in the responsive bids and the possibility of a need
to notify the CEC, given the CEC’s continuing oversight of new facilities that may affect project
description. As a result of not seeing this linkage, the Micro Filter Feed Tank was installed with
the micro filtration equipment.

The Micro Filter Feed Tank is a 24,000 gallon fiberglass tank (12° diameter x 30’ in height). It
is gray in color, matching the other structures at the WEC, and is located in the ZLD water
treatment process area. This new tank is not clearly visible from outside of the plant property.
The Micro Filter Feed Tank was sized to meet the design requirements of the new micro
filtration equipment and stores the cooling tower blowdown for use in the micro filters. The tank
provides enough storage to handle brief upsets in the micro filters without affecting the cooling
tower chemistry.

Included in Attachment 1, are three figures that depict where the tank is located and its
dimensions. This first figure shows the new Micro Filter Feed Tank. The Micro Filter Feed Tank
is approximately 2 feet shorter than the HERO Reject Storage Tank (on the right side in the
picture). The second figure is a fabrication drawing of the Micro Filter Feed Tank that shows its
dimensions. The third figure is an aerial of the WEC plant. The location of the new Micro
Filter Feed Tank is shown on the figure.

Shade Structure

TID proposes to install a shade structure to protect the micro filtration equipment from sun
damage. The structure would be located in the WEC ZLD area. It would be 44’ long by 18°-6”
wide. It would be approximately 13’ in height, which is much shorter than much of the
equipment and tanks in the ZLD area. The structure would be supported by galvanized steel
beams and the metal roof would be painted gray to match the rest of the WEC. Included in
Attachment 2 is an engineering drawing of the shade structure. The location of the shade
structure is indicated in the aerial of the WEC plant in Attachment 1.

Conclusion

Based on these facts, the WECA believes that the inclusion of the Micro Filter Feed Tank and
shade structure constitute an insignificant project change that can be approved by Staff. Pursuant



March 9, 2010
Page 3

to section 1769(a)(2), Title 20, California Code of Regulations, a formal amendment is not
required if Energy Commission staff determines that:

« There is no possibility that the modification may have a significant effect on the
environment, and

o The modification will not result in a change to or deletion of a condition of certification,
or make changes that would cause the project not to comply with applicable laws,
ordinances, regulations, or standards (LORS).

Nevertheless, the information presented herein is consistent with the requirements of Section
1769 of the California Energy Commission regulations. The information presented herein
provides a complete description of the proposed modifications, as required by Section
1769(a)(1)(A). The information also includes a discussion of the necessity of the proposed
changes, per Section 1769(a)(1)(B). The project modification is based on information that was
not known during the time of the certification, and it does not undermine the assumptions,
rationale, findings, or other bases for the final decision, per Sections 1769(a)(1)(C) and
1769(a)(1)(D). As discussed above, the modification does not have the potential to create any
significant impacts on the environment and makes the project consistent with all applicable
LORS, per Sections 1769(a)(1)(E) and 1769(a)(1)(F). The modification will not adversely affect
the public, per Section 1769(a)(1)(G). In addition, the modification will have no adverse effects
on nearby property owners, per Sections 1769(a)(1)(H) and 1769(a)(1)(1).

Should you have any questions, please do not hesitate to contact George Davies, Turlock
Irrigation District Combustion Turbine Department Manager at (209) 883-3451or me at 916-
447-2166.

Sincerely,

ELLISON, SCHNEIDER & HARRIS L.L.P.

Jeffery D. garris

Attorneys for Walnut Energy Center Authority

Attachment

cc: Jack Caswell, CEC with Attachment



ATTACHMENT 1



e T——————]

ITIIITITI...IN.IIIT.KI S O e

| ol ad dwad Rl dwad

11_.

e —

T ———en W SRR

H‘l.



UNLESS OTHERWISE NOTED, ALL 150# FF FLANGES TO BE 25 PS| RATED. NOZZLE SCHEDULE cHekClst
A — CONICAL GUSSET O — NON—GUSSETED - T T T o
MARK SIZE | REQ'D DESCRIPTION SERVICE 1 |NeTalL | ceeck
o[ Al 8" EXT.150F FF _FLG W/INT. D/CINLET
aiiad _ A2 8" INTERANL 150# FF _FLG INLET
_ o[B8 10" T50# FF FLG OUTLET
/AN A[¢ 3" 1__[150# FF FLG DRAIN
POGPuER 9 W o[ D 12" | 1 _|1504 FF _FLG OVERFLOW
“ LOW SIDE | (™) o[ E 74" | 1__|SID. SIDE_ENTRY MANWAY
m DOWNCONER OF SLOPE 362.5 e o[ _F 18 T__|STD _TOP_ENTRY MANWAY
5 R —— i " () ® | 7 . o[¢ 10" | T |DUCT FLG_W/FRP MTRD G/N VENT
’ i \ / () A H 37 T [150F FF _FLG LEVEL
'® DRAIN HOLE ’ (c) 3225 / (e) o[ 4 T [i504FF FLG W/FRP BLIND/ELBOW SPARE
ON LOW SIDE e v 1z . o) 315, \ 45 @ ol 8" T__[150# FF _FLGC W/FRP_BLIND | SPARE
CONICAL GUSSET DETAIL \ S K YATY: oK 10" | 1 [150# FF FLG W/FRP BLIND | SPARE
for T sea AN < T S e
| . i —— 4 ; GALV. LIFT_LUG
(5) REQD g . N p NP ——— [ 1 |SEE REFO10 DFF_NAMEPLATE
292.5 AN _ / PCT | ——— [ 5 [EXTERNAL; SEE DETAIL (AYPIPE_CLIPS
~ _ PC2 | _——— [ 5 [INTERNAL; SEE DETAI (APIPE_CLIPS
() F PC3 | ——— [ 3 [EXIERNAL; SEE DETALL (DPIPE_CLIPS
i _ e PC4 | ——— | 5 [EXTERNAL; SEE DETAL (DYPIPE_CLIPS
© g -—825 NOTES:
W/304SS g _ == . :
MESH SCREEN /AW oo.@s\_zmmza. RESIN. CORROSION LINER: ISOPHTHALIC POLYESTER
> . o ECBOW CORROSION LINER THICKNESS: 100 MILS NOMINAL
(4)REQ'D @N% gl - 1 = & SURFACING VEIL: SINGLE PLY NEXUS
- . _ M
_ 1 6ANTI-SIPHON ! RESIN, STRUCTURAL: ISOPHTHALIC POLYESTER
l“m__.hmz%s 4'-6 HOLE _ GELCOAT: LIGHT GRAY WITH UV INHIBITORS
= 129’ _47 2 [ DOME TOP THK: .355" W/.455” KNUCKLE ~ INTERNAL FLOOR THK: .375"
wae(GY 28—t 20-0rp) [ e FLAT BTM, THK: 375" W,/1.0" KNUCKLE
T._.._% @7 A@Nuw.m SIDEWALL THK: SEE ELEVATION VIEW
MITERED ! _ ’ EXTERNAL NOZZLE PROJECTION: 6" FROM 0.D. UNLESS OTHERWISE NOTED
_ ! / ko INTERNAL NOZZLE PROJECTION: 2" FROM I.D. EXCEPT (H) TO BE FLUSH
N4 o
Lz _ _ eom.m Lw.u. GASKET MATERIAL: 1/8"THK NEOPRENE
Ih _ BOLT MATERIAL: ZINC—PLATED
28 - “ - © ®
o G4 _ -EE=ms 24 =4c)c) POST CURE REQD:  NO
_ _ SLAN VIEW HYDROTEST REQ’D: NO
[ _ NOMINAL CAPACITY: 24,500 GAL.
_ TANK WEIGHT EMPTY: 8,378 LBS.
! 8’ FRP INTERNAL \orE TANK WEIGHT FULL: 212,708 LBS.
| | — .
oh _ _ L DOWNCOMER HOLES FOR UopoLTs DESIGN PRESSURE: ATMOSPHERIC wmm_mnmw m\__m_moz_wtmwhnmmonz_mwx_mo 20065
T2 . | - BY OTHERS. U—BOLTS DESIGN TEMPERATURE: AMBIENT :
g Eo 94" | EL=a 194" 6560 BY OTHERS. T 12°=0".D DESIGN SPECIFIC GRAVITY: 1.0 Ss=.873 $1=.313 |=1.0
_ [ 3/4"THK FRP CLIP ON TANK — CONTENTS: WATER
! 4*x}* FRP 17—y A =
v ! _ CHANNEL \l&%m o_/ TANK TO BE BUILT PER ASTM D3299, ASTM D4097, AND PS 15—69, AS APPLICABLE.
ST _ | _ ] PROPER VENTING OF THE VESSEL TO BE THE RESPONSIBILITY OF THE CUSTOMER.
I | VENTS SHALL BE SIZED TO PREVENT ANY OCCURRANCE OF PRESSURE OR VACUUM
Lo o _ —_— BEYOND THE DESIGN PARAMETERS STATED ABOVE.
s @Fubumu _ ! g ™ Ih.._._v_u _mA 12" | ALL ELEVATIONS TO BE MEASURED FROM REFERENCE LINE.
o | T -|g o | - e ALL NOZZLE BOLT HOLES TO STRADDLE TANK'S MAJOR CENTERLINES.
X _ i b el ALL NOZZLES TO BE COVERED WITH PLYWOOD DURING TRANSIT.
5t | 2 5/5 HOLES } GROUT AS
Th _ i REQUIRED ~12'=7" AB.C. FULL FACE GASKETS MUST BE USED ON ALL FIBERGLASS FLANGES. RING TYPE
b _ _ _ 18 ! GASKETS ARE NOT SUITABLE.
o 12'-0°LD. _ , FRP PIPE SUPPORT DETAIL FLANGE BOLT-UP TORQUE SHOULD NOT EXCEED 25 FT-LBS. FOR BOLTS UP
_ SES X a._.Uv DOG_DETAIL TO 1/2” DIAMETER AND 50 FT-LBS. FOR 5/8" DIAMETER AND LARGER BOLTS.
. (13) REQD DETAIL A—A
y | | L%.Lrg APPLICABLE REFERENCE DRAWINGS
I ¥ _ — DWG NO.  DESCRIPTION DWG NO. DESCRIPTION
TS ! APPROXIMATE ANCHOR BOLT CIRCLE IS 12 —=779. REF004 CONTACT MOLDED FLANGE REF024 FRP MITRED VENT
53 _ PLEASE NOTE DIAMOND RECOMMENDS THAT R ooa  CONTACT MOLDED U REFO37  GALV.LIFFLUG
@ ANCHOR BOLTS BE SET AFTER TANK IS IN REF010 DFFI NAMEPLATE REF0628B GALV. TIE DOWN
! PLACE TO INSURE PROPER FIT. SEE IND5458A REF017 SIDE ENTRY MANWAY REF137 18"TOP MANWAY
X 44" E6) NUMBER REQUIRED: _f MODEL_NO. V11230 _DI—SB
o THIS DRAWING IS PROPERTY OF DIAMOND CUSTOMER P.O. P065415 MF FEED TANK
i ASSEMBLY PARTS LIST N THE DRAWNG, INCLUDING THE RigH To " [DEELWORK ORDER{ 22117 |TURLOCK IRRIGATION DISTRICT
3—/. PROTECTION THEREOF BY PATENT OR OTHERWISE TANK COMPLETION DATE: for
o QrTY | SIZE DESCRIPTION MATERIAL |SERVICE | prues o B O o S o T R DR WALNUT ENERGY CENTER
5y Etz. 1'—0" 1 27" |STD._SIDE_ENTRY GASKET |NEOPRENE|MANWAY | Wikiolt Tt Shok WATEN ovaor o = |oreri—yesir TURLOCK, CALIFORNIA
I 0 = N T 20 _|5/8°X3 3/47|BOLTS, NUTS, WASHERS | PLATED | MANWAY | DIAVOND FIBERGLASS. R0aT APV B
ue LI r _m_l@ 187 STD. TOP_ENTRY GASKET |NEOPRENE[MANWAY [wARK] _DaTE REVISIONS [CHKD.JAPVD
[REFERENCE LINE _ — 1 6 _[3/8° X Z_|BOLTS, NUTS, WASHERS | PLATED |[MANWAY| O [6—11—09 | SUBMITED FOR CUSTOMER APPROVAL x| é5
A FLUSH 1/4*PER FOOT . 107 " DUCT_GASKET NEOPRENE| G 1 |6—24—09 | REVISED PER_CUSTOMER COMMENTS DIAMOND
. 7 _[3/8"X1 _3/4[BOLTS, NUTS, WASHERS | PLATED |G RESUBMITTED FOR _CUSTOMER APPROVAL oz |45
(12)REQ'D INTERNAL SLOPED BOTTOM iy BLIND /GASKET FRP/NEO |1 2 [7—07—09 [ ADDED PIPE_CLIPS FOR (D) AND ELBOW ON (1) FIBERGLASS
8 | 5/8'X3"_|BOLTS, NUTS, WASHERS | PLATED I RESUBMITED FOR CUSTOMER APPROVAL oz |45 1036 Industrial Park Dr. Victorie. Toxas 77805
ELEVATION VIEW 1 8" BLIND/GASKET FRP/NEO_[J 3 [7=13—09 | APPROVED AS SUBMITTED; CERTIFIED FOR CONSTRUCTION ¢¢ |2 Tel (361) 572-4040 Fox (361) 573-0451
8 |3/4°X3 3/47[BOLTS, NUTS, WASHERS | PLATED [J www-diamondfiberglass. com
(TRUE ORIENTATION IN PLAN VIEW ONLY) 107 BLIND /GASKET FRP/NEO |K BRAVING 0. =
2 17/8°X3 1/2BOLTS, NUTS, WASHERS | PLATED [K [SCALE:3/8"=1"-0" IND5458 u
26 _[1/2°%2 BOLTS, NUTS, WASHERS | PLATED |PC1,PC3 [DRAWN_DATE: 6-3-09




[ -

"MAPQUEST. ;_ _ ——— %

. Il. 5 ." i
W Micro Filter Feed |
i Tank

MapCuest Inc iRl * S Map Data © 2008 MAV.TEG ROkl Slefias



GAD
Rectangle

Susan Strachan
Callout
Shade Structure

Susan Strachan
Sticky Note
None set by Susan Strachan

Susan Strachan
Oval

Susan Strachan
Callout
Micro Filter Feed Tank


ATTACHMENT 2



10" CLR. TO

FACE OF BEAM

i
It
iU
It
iUy
It

ZEE PURLINS TO BE DESIGNED BY CONTRACTOR ~ 290A. R—PANEL METAL ROOFING DESIGNED BY CONTRACTOR

PLOTTED:

/ COLOR TO MATCH OTHERS AT SITE
L
> ‘ =
TAPPERED RAFTER BEAM Eium OF EXIST. BEAM ‘\;
W/ FLAT BOTTOM e 139"
N I
\\¥ I \\\%@
I
EXIST. W8X18 BEAM H
10” CLR. TO
EXIST. PIPE SUPPORT, — I
STRUCTURE (TYP.) FACE OF BEAM H
| |=-| 3 I
I
I
- 18'-6 5/8” -}
) |
1 A A EHE 1 EHE =z I
LSt B == = \
| o}
“ B ® ® i # 3 H
[ »
___________________ I S I S S || B 8 f © |
/‘ | i " || NOTE: ALL ELEVATIONS
| u e ) < | D_LENGTH TO
“ B Het o ! BE FEILD VERIFIED
\ I J © =z
\ / . 1 = % I
= [ (@) I
\ Fo "o Z <l
‘ (’/_') Ol |
\ CUT—0OUT FOR < |
CONDUITS A Y H
___________________ ___/________ —— e e e |
\ / I
| Q2
! =
I
| / i w ::
\ / ‘ 4 =35 I
I
v B | I
18 —65 I
\ ° 18'—6 !
\ / I
T YT T T Tt T T T T T R Y (R Y T | H
: Vi _ I 5/8" ¢ A325 ANCHORS
& i | EMBEDDED 6” MIN.
\ / 444Wij:% ’ \
— i F 4'— 3 ‘
U U I
| | [
| [ 1 ) | [ 1 ) I W%” GROUT H /
| | [ r . N (. N T O C
| | [ Al 4]
1 I _E _________ _u______Eq__ ____________________________ ] ] f f EL. 100'-0"+ Q
] ] ]
| | | - 18" CONC. SLAB =
| | [
“ [ ] “ [T ] H ¢
u : : u . : u 3
[ = — ] R - S m——— g | ¥ SECTION A
| EAPPERED RAF)TER BEAM u END BEAM Pl EAPPERED RAF)TER BEAM ((( ( ( < SCALE:1/2"=1"-0"
| | ) |
IroTo ‘vur _.Tl.‘_;lfi _________________________ J \\\
e
1
— AN GENERAL NOTES
W8x31 COLUMN W8x31 COLUMN o i
12'—6" 1. ALL STRUCTURAL STEEL MEMBERS, COMPONENTS,
_— o CONNECTION PIECES AND BOLTS ETC. SHALL BE
HOT DIP GALVANIZED ACCORDING TO ASTM A123
COATING THICKNESS AND GRADES

44’

2. FIELD CONNECTIONS SHALL BE AISC ASD TYPE 2
/ \ ‘ (SWHQEEB,,EE,UC:TUSE ) PLAW (SIMPLE MOMENT CONNECTION), BEARING TYPE BOLTED
‘ . CONNECTIONS USING ASTM A325 BOLTS IN STANDARD SIZE
/ \ ALE: 1 =3 HOLES, UNLESS NOTED OTHERWISE.
/ \
/ \ I /\ /\ 3. ANY WELDING SHALL BE IN ACCORDANCE WITH A.W.S.
STRUCTURAL WELDING CODE D.1.1 AND AISC MANUAL
OF STEEL CONSTRUCTION, AISC 9TH ED.
4. MEMBERS MAY BE SHOP WELDED IN ORDER TO
ASSEMBLE THE LARGEST TRANSPORTABLE UNITS.
| | 5. ALL LENGTHS AND ELEVATIONS WILL BE VERIFIED
7 N 0 BY THE CONTRACTOR BEFORE FABRICATION OF ANY
83 W8 X 18 END BEAM 83 STRUCTURE COMPONENTS.
? ? 6. CONTRACTOR WILL COORDINATE INSTALLATION WITH
o5 _g” CIVIL ENGINEERING FIVE WORKING DAYS PRIOR TO SITE
BEAM DETAIL R
A SCALE1/2=1—0" 7. ALL CONSTRUCTION WORKERS SHALL COMPLY WITH TID
' - SAFETY AND CONSTRUCTION GUIDELINES WHILE WORKING
AT POWERPLANT. (MANDITORY 15 MIN. SAFETY COMPLIANCE
SESSION FOR EACH ONSITE WORKER.)
93" ﬁ TAPPERED RAFTER BEAM @ 8]
18~ 108"
B SCALE:1/2"=1"-0"
"” 1
2 5 ™ 2)-3/4"¢ HOLES FOR ”
$ ’ r ‘ (2)=-3/4"0 HOLES FOR . /5”<a A325 BOLTS N
| | 8" A325 BOLTS 8
S 2 3 BOTH SIDES OF WEB), TYP. ol o1
21 V":"": 777777777777777777777777777777777777777 (BOTH SIDES OF WEB), TYP. ( ) % 2% 8"
e 1 L3X3X%X0' =5 3" 1o T T 1
1 5 ’ 17 16 2 HE - - - |- O
~ < NS0 0 ElE LONG CLIP ANGLE Zf 27 PR T B
1 (BOTH SIDES OF WEB), TYP.
MZ B TOP VIEW (BOTH SIDES OF WEB), TYP. KE T ' | | )
2 T 5/8” BASE PL. 25 i | 5/8” TOP PL.
3/4”¢ HOLES CENTERED ON FLANGE 3 SIDES 3 SIDES il O o / 8 i |
5» » TYP. 1/4” , 2 , )
(Fggﬁ ®S\é§§5oEOVLvTESB) TYP ! e V e \J / g” 10 T i [ (4) —3/4" @ HOLES FOR 8 n - ‘F======='|/ (4) —3/4" ¢ HOLES FOR
L e A , r 2 | o o0 5/8” ¢ A307 ANCHORS 5 1o o 5/8" ¢ A325 BOLTS
Y] — )
N \ ? 21” V7777772 77777 77777 3 ! !
v T N— 2 !
8%” 9%” 3 BT“ W;,, r Wg” 21%”61%”8%” ?
»2;”?5“ — 67 27 | | '8 :T ¢
- T - /‘ 4”
o ,, Q I ! , —1 1/4 V / V
COLUMN CONN T ; a BASE PLATE 5 TOP PLATE
. 3 BEAM CONN ol SCALE: 1 1/27=1—-0" SCALE: 1 1/2"=1-0"
1 o 1 BEAM CONN . 1 - .
. L 3 PR
SCALE: 1 1/2"=1"-0 27— (D - 3 SCALE: 1 1/2"=1"-0

SCALE: 1 1/2"=1"-0"

N T C.E\W.A.A. - CIVIL ENGINEERING /LD — PALL M.F.S.
SHADE STRUCTURE

AS SHOWN
2 OF: 2

CHECKED DATE |REVIEWED

PLAN @ EL. 113 =9 & SECTIONS

B AT M Y // WALNUT ENERGY CENTER




	6)_WEC Attach 2 with Shade Struc Figure.pdf
	ATTACHMENT 2.pdf
	WEC Shade StructurePAGE2




